= CAREER POWER

AN I1IT/IIM ALUMNI COMPANY

Q1. A number when divided by the sum of 555 and 445 gives two times their difference as
quotient and 30 as the remainder. The number is

T G&AT F 99 555 3T 445 % 07 F fAwriorg f#am Smar § a7 ANTR F &7 § S < FT IRET T 3T
& 3l TR & T F 30 ITH AT §. TEAT 719 Ffora?

(a) 220030

(b) 22030

(c) 1220

(d) 1250

Q2. In a farm there are cows and hens. If heads are counted there are 180, if legs are counted there
are 420. The number of cows in the farm is

TF FH H Y 7 gitar 81 af A e 93 180 31 §, 3 4 Y ot fit SA7elt § 9 420 q gl @7 H
AT Y HEAT B-

(a) 130

(b) 50

(c) 150

(d) 30

Q3. There are 2 teams-A and B. If 3 people are shifted from Team A to Team B, then Team B has
thrice the number of members than Team A. If 2 people are shifted from Team B to Team A, then
Team B has double the number of members than Team A. How many members does Team B have
originally?

2 &9, A ST B 8. It 3 et & & A § & B ¥ SiqiRa &< AT Srar g, a1 &7 B # sufegy &t g&r
AT AT T er. aR 2 AP T fm BA M AT wMiaRa W Rarsmar g ar fw B A A it
T & SR =a TR i, areae § A B ¥ R weewr 2
(a) 15

(b) 18

(c) 42

(d) 45
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Q4. If in a three-digit number the last two digits’ places are RRB JUNIOR ENGINEER

interchanged, a new number is formed which is greater than the STAGE |

original number by 45. What is the difference between the last (e

two digits of that number? - , TN
afy F A s ATh g F sifvw @ o ¥ o qow #F aww R A (a200
T, A e T e ST S & S i e wear & 45 Gfew 8. 99 Bl ) L
AT & SifAW ¥ sihl & Hed FT HAL F1q FfSA? T T e

() 9 )

(b)8 e e e e

(c)6

(d) 5
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Q5. Three numbers are in Arithmetic progression (AP) whose sum is 30 and the product is 910.
Then the greatest number in the AP is

RO ST (AP) & i1 ST € fSraeht T0T 30 SR Urher 910 &, SiTior 1 ST & e FSt dear
T °T 87

(a) 17

(b) 15

(c)13

(d) 10

Qeé.

If the number 4 83 2 7 * 8 is divisible by 11,
then the missing digit (+] is

gfe §m 48327%8, 11 & Oy &,
ar 3 & (=) A N

(@5

(b) 3

(c)2
(d)1

Q7. The HCF of two numbers is 6 and their LCM is 72. If one number is 24, the other number is
I G&ATA T HCF 6 § i 79T LCM 72 . If% U €1 24 §, 7 g0 9T 8-

(a) 12

(b) 18

(c) 36

(d) 72

Q8. The largest number which divides by 72 and 125, leaving remainders 7 and 8 respectively is

I TST G&IqT ST 72 3T 125 § fAwTsT g, i 0 7 3K 8 A9Use Ji=dv g, 98 &-
(a) 13
(b) 56
() 65
(d) 900

Q9.Ifa:b=3:5andb:c=2:3,thena:cis
gfda:b=3:53b:c=2:3,dr a:c T FAM?
(a)3:2

(b)2:5

(c)5:2

(d)5:8

Q10. Which of the following numbers are in proportion
Rafofaa § & F7 € de3r aarguma § 872

(a) 12, 27, 54, 24

(b) 27,12, 24, 54

(c) 12,27, 24,54

(d) 54, 24,12, 27
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Q11. The ratio between the third proportional of 12 and 30 and

mean proportional of 9 and 25 is RRB JE PRIME 20]9

12 3T 30 ¥ T GUIEIAS qAT 9 3fT 25 F HAUTdr & i+
T & FIRST STAGE

(@)2:1 TOTAL VACANCIES 13,487
(b) 75=115
C :
(d) 9:14 15 Full Length Mocks
( ) . 20 Section wise Practice Sets
20 Topic wise Tests
Q12. The product of the duplicate ratio of 2a : 6b and the BILINGUAL

reciprocal ratio of 4a® : 25b? is

2a : 6b F TR(e FAITT TAT 4a2 : 25b? F EHH JTATT HT TUTHT -
(@o

(b)1

(c)a:b

(d) None of these/ZaH & Fls Al

Q13. Find the two numbers whose mean proportion is 12 and the third proportional is 324.
T HEATE AT ForT, et weargurdt 12 3 37 e gaTgaTas 324 g

(a)6and 8

(b) 4 and 36

(c) 3 and 24

(d) None of these / H & < gl

Q14. The present ages of A, B and C are in the ratio of 8 : 14 : 22 respectively. The present ages of
B, C and D are in the ratio of 21 : 33 : 44 respectively. Which of the following represents the ratio
of the present ages of A, B, C and D respectively?

A, B 3R C fT F4HT A FT ST FHLN: 8 : 14 : 22 §1 B, C 3T D FY ITAHTT AT FT AT F7M: 21 : 33
44 3 Fufefa & & @i a1 AT w79m: A, B, € 3= D it 39T I &t 75qa F<ar 872

(a) 12:21:36: 44

(b)12:21:33:44

(€)12:22:31: 44

(d) Cannot be determined / R&Ta A8l AT ST TFhaT

Q15. When 30% of one number is subtracted from another number, the second number reduces
to its four-fifths. What is the ratio of the first to the second number?

SIS T&F €647 & 30% Hl, T T AT § TSHIT SATAT &, af g4 ST 9 A< &4 &' 4/5 @ ATt g1 Tt
AT T O €&AT ¥ ST ATd I

(@)2:5

(b)2:3

(c)4:7

(d) Cannot be determine /A& TRa F&i fFaT ST FhaT
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Q16. Rita invested 25% more than Sunil. Sunil invested 30% less than Abhinav, who invested Rs
6000. What is the ratio of the amount that Rita invested to the total amount invested by all of them
together?

Gar, gha & 25% st MaAfera it 81 gie, at¥\a & 30% w7 [Fasr w3 €, St 6000%. [t wwar
g1 Trar g Rt awafer #1, 37 ol g o R [Rafa gaafr & s s fismo

(a) 35:104

(b) 13: 29

(c)101:36

(d) 35:103

Q17. One-fourth of sixty percent of a number is equal to two-fifths of twenty percent of another
number. What is the respective ratio of the first number to the second number?

TF T&AT & 60% FT TH-ATIATS, TH T 96T & 20% ¥ 2/5 F Ia< gl TSt G T T, T 6T § qwifaa
CERICRIGET ISy

(@)4:7

(b)5:9

(c)8:15

(d) Cannot be determined/ f&rTRa F&T 3T ST FohaT

Q18. The total number of boys in a school is 16% more than the total number of girls in the school.
What is the respective ratio of the total number of boys to the total number of girls in the school?
T A § q6l f 5 g, Peray § agihai it g 9 71 § 16% stfees §) fFenea § a6t i 3
AT T, ASTAAT T FoT G&AT T GATAT ATATT FTT HIOQ

(a)25:21

(b) 29:25

(c)25:29

(d) Cannot be determined/ f&rTa AgT 3T ST ThaT

Q19. In a class the number of girls is 20% more than that of the boys. The strength of the class is
66. If 4 more girls are admitted to the class, the ratio of the number of boys to that of the girls is

TS FAT & AS(HAT it GE&AT, ASHI i G&4T T 20% ATAF g1 Fe7 § Faenhiay £ o 9=ar 66 g T F97 &
T AT ASTHAT T TALT FIAT 3, AT ASHI bl TEAT T, ASTHAT T H&AT & FTATT AT HIIQY
(@)1:2

(b)1:4
(c)3:4
@35 RRB JE PRIME 2019
Q20. If the income of A is 10% more than that of B and the cs & IT
income of B is 20% less than that of C, then the incomes of A, B ALLIED ENGINEERING
and Crespectively are in the ratio 85 + TOTAL TESTS
TRAF T, BR T T 10% AAF ETATBHT T, CF AT T 20% R i

. ;ﬁﬁ-q- 7 Mocks for Second Stage
FH G, T FHA: A, B AT C AT ST T AT A1 ! 5 Previous Years Practice Sets for CS & IT
(a)11:10:8 20 Section wise Practice Sets fopFirst Stage
(b) 22:20:25 20 Topic wise Tests for First Stage
(c)10:9:7 20 Topic wise Tests for CS &'1T
(d)22:18:25 eBooks (Study Notes)
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Q21. For one year the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population is 9975 at the end of the second year, then
what was the population size in the beginning of the first year?

TF qH & (T T T8 it T9aedT § 5% $ i St € i< shrer a9 & S0, STaear d 5% it w41 g €.
e qER AW F 3T § FF SEEAT 9975 8, AN Tg a9 6l AT | STA6eAT fhast ofi?

(a) 10000

(b) 12000

(c) 15200

(d) 13500

Q22.

IfAearns 33 %% more than B, how much percent does B earn less than A?
oG A B @ 33%% HOw FAEr &, B AT g 9igud &3 & 27
(a) 20%

(b) 12.5%

() 25%

(d) 37.5%

Q23. If A’s salary is 30% less than that of B, then how much percent is B’s salary more than that of
A?

IfX AFT 999 BH 30% FH &, AT A & THE B FT aq fohaat Q9T rfer &2

(a) 652%

(b) 422%

(c) 25%

(d) 242%

Q24.10% of 5 and 5% of 10 add up to
5 % 10% 3it< 10 FT 5% FT L §

(a) 0.10

(b) 0.25

(c)1.0

(d) 2.5

Q25.36% of 245 - 40% 0of210=10-?
245 FT 36% - 210 FT140% =10 -

(a) 4.2

(b) 4.9

(c) 6.8

(d) None of these/ TAH & FIs gl
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Q26. 45% of 300 ++/(?) = 56% of 750 - 10% of 250
300 FT 45% + /(?) = 750 FT 56% - 250 FT 10%

(a) 60

(b) 130

(c) 260

(d) 67600

Q27.15% of 578 + 22.5% of 644 =?
578 FT 15% + 644 =71 22.5% = ?

(a) 231.4

(b) 231.6

(c) 231.8

(d) 233.6

Q28.140% of 56 + 56% of 140 =?
56 T 140% + 140 FT1 56% = ?

(a) 78.4

(b) 87.4

(c) 156.8

(d) 158.6

Q29. 15% of 45% of a number is 105.3 What is 24% of that number?
et =T F 45% FT 15% 105.3 7. S G&AT FT 24% FIT gRIT?

(a) 374.4
(b) 375
(c) 385.5
(d) 390 e
A COMPREHENSIVE GUIDE FOR
Q30.1f 0.03 is X% of 0.3, then the value of x is RRB JUNIOR ENCINEER
[v)
?(11?30.3?=FTXA; 0.03 &, T X T |19 T F<. STAGE |
d :
Gl HIEdH)
(b) 10 & )
(c) 30 Printed Edition +eBooks

(d) Cannot be determined/ ST AT AT ST FRaAT
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